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1. O is the centre of the circle.If LZO0=84°,find LC

(i) 138° (ii) 143° (iii) 168° (iv) 148° (v) 153°

2. O is the centre of the circle. If LGOI = 68°, find LF
H G

F

(i) 39° (ii) 49° (iii) 64° (iv) 34° (v) 44°

3. O s the centre of the circle. If £JOl = 142° and £KOI = 75°, find £JIK
|

(i) 81.5° (ii) 86.5° (iii) 76.5° (iv) 101.5° (v) 71.5°



4. Find the missing angle in the following figure?
E

(i) 32° (ii)) 27° (iii)) 22° (iv) 17° (v) 47°

5. O is the centre of the circle and OC = BC. Find £ZBOC
A

c

(i) 65° (ii) 75° (iii) 60° (iv) 70° (v) 90°

6. O is the centre of the circle and OE = DE. Find ZEOC
D

C

(i) 120° (ii) 150° (iii) 135° (iv) 125° (v) 130°



7. O is the centre of the circle and O) = |J. Find reflex £JOH
H

(i) 245° (ii) 240° (iii) 250° (iv) 270° (v) 255°

8. O is the centre of the circle.If L1+ £]JOK = 97.5°,find £JOK
J

N/

(i) 75° (ii) 95° (iii) 65° (iv) 70° (v) 80°

9. O is the centre of the circle. If LZCED = 53° and £LECF = 50°, find y°, z°

(i) 30°,37° (ii) 50°,47° (iii) 40°, 37° (iv) 37°,40° (v) 70°, 57°



10. O is the centre of the circle. If ZHOI = 84°, find the angle Z]

K J

(i) 72° (ii) 57° (iii) 42° (iv) 52° (v) 47°

Two circles touch internally. E is the centre of the bigger circle and lies on the smaller circle. If £ZBCD = 50°, find
" LB

Zl

<

B

(i) 40° (ii) 45° (iii) 70° (iv) 50° (v) 55°

12. AKLM is inscribed in a circle with centre O. If ZKOL = 111° and £ZLOM = 156°, find £ZMKL

(i) 83° (ii) 108° (iii) 78° (iv) 93° (v) 88°



13. ALMN is inscribed in a circle with centre O. If ZLOM = 130° and £ZMON = 141°, find ZLMN

(i) 59.5° (ii) 44.5° (iii)) 54.5° (iv) 74.5° (v) 49.5°

14. AKLM is inscribed in a circle with centre O. If ZKOL = 132° and £ZLOM = 150°, find ZLMK

(i) 96° (ii) 71° (iii) 76° (iv) 81° (v) 66°

15. In the given figure, O is the centre of the circle. If LZGJH = 53.5° and £0GJ = 39°, find ZIH])

(i) 144° (i) 159° (iii) 129° (iv) 134° (v) 139°



16. In the given figure, O is the centre of the circle and CD is a diameter. If ZDOF = 100°, find £LCEF

(i) 55° (ii) 70° (iii) 45° (iv) 50° (v) 40°

17. In the given figure, O is the centre of the circle and KM is a diameter. If £LLJK = 60°, find £ZLKM

(i) 35° (ii) 45° (iii) 30° (iv) 40° (v) 60°

In the given figure, O is the centre of the circle and JL is a diameter. If ZIOL = 109° and £0LK = 65°, find £JKI +

18.
8 LKJL

(i) 65.5° (i) 60.5° (iii) 75.5° (iv) 70.5° (v) 90.5°



In the given figure, O is the centre of the circle and DF is a diameter. If LZCED = 29° and 4ZDCE = 61°, find LFDE

19.
+ LCEF

(i) 105° (ii) 120° (iii) 90° (iv) 95° (v) 100°

20. In the given figure, O is the centre of the circle. If ZHGI = 46° and 4£GlI] = 32°, find £IK]

(i) 117° (i) 112° (iii) 132° (iv) 102° (v) 107°

21. O is the centre of the circle. If Arc FH = 2 Arc Hl and £ZFOH = 78°, find 4ZFIH

(i) 69° (ii) 49° (iii) 54° (iv) 44° (v) 39°



22. O is the centre of the circle. If Arc CE = 2 Arc EF and £COE = 75°, find £LFCE

(i) 28.8° (ii) 48.8° (iii) 18.8° (iv) 33.8° (v) 23.8°

23. O is the centre of the circle. If Arc DF = 2 Arc FG and £ZDOF = 97°, find LDEF

(i) 131.5° (ii) 136.5° (iii)) 141.5° (iv) 146.5° (v) 161.5°

In the given figure, BC is a side of regular 10-sided polygon and BD is a side of regular 5-sided polygon inscribed
" in a circle with centre O. Find ZBOC

(i) 51° (ii) 36° (iii) 66° (iv) 41° (v) 46°



In the given figure, FG is a side of regular 10-sided polygon and FH is a side of regular 9-sided polygon inscribed
" in a circle with centre O. Find ZFHG

\.
|

(i) 48° (ii) 18° (iii) 33° (iv) 23° (v) 28°

In the given figure, BC is a side of regular 10-sided polygon and BD is a side of regular 6-sided polygon inscribed
" in a circle with centre O. Find £ZBCD

(i) 35° (ii) 30° (iii) 40° (iv) 60° (v) 45°

27. In the given figure, O is the centre of the circle, and O) L FG. If LZFGH = 42.5°, find LFOH

(i) 85° (ii) 115° (iii) 95° (iv) 90° (v) 100°



28. In the given figure, O is the centre of the circle, and OM L |}. If £ZIJK = 39.5°, find £LOLK

(i) 50.5° (ii) 55.5° (iii) 60.5° (iv) 65.5° (v) 80.5°

29. In the given figure, O is the centre of the circle. If LZFDE = 47.77° and £LDEF = 57.57°, find the angle £ZDGE

(i) 104.66° (ii) 89.66° (iii) 79.66° (iv) 74.66° (v) 84.66°

30. Which of the following statements are true?

a) Angles in the opposite segments are complementary.
b
C

Angles in the opposite segments are supplementary.
Angles subtended by equal length arcs in two circles are equal.
d) Angles in the same segment are equal.

)
)
)
)

(i) {a,c,b} (i) {a,b} (i) {c,d} (iv) {a,d,b} (v) {b,d}

31. If an arc subtends an angle of x° in its alternate segment, then the angle is subtends at the centre is

o

X
(i) 4x° (ii) 2x° (iii) x° (iv) -2

32. An arc subtends 90° in its alternate segment. The arc is
(i) major arc (ii) quadrant (iii) minor segment (iv) semi-circle (v) major segment

33. An arc subtends 152° in its alternate segment. The arc is

(i) major arc (ii) semi-circle (iii) quadrant (iv) major segment (v) minor arc

34. An arc subtends 50° in its alternate segment. The arc is

(i) semi-circle (ii) quadrant (iii) minor arc (iv) major segment (v) major arc



35.

36.

37.

38.

39.

40.

41.

42.

An arc subtends 49° in its alternate segment. Its corresponding major arc subtends what angle in its (major arc)
alternate segment?

(i) 136° (i) 161° (iii) 131° (iv) 141° (v) 146°

An arc subtends 30° in its alternate segment. The angle made by its corresponding major arc at the centre is

(i) 330° (ii) 315° (iii) 305° (iv) 300° (v) 310°

The angle subtended by the semicircle at the centre is

(i) 210° (i) 190° (iii) 185° (iv) 180° (v) 195°

The angle subtended by the diameter at any point on the circle is

(i) 90° (ii) 95° (iii) 105° (iv) 120° (v) 100°

Angle subtended by the major arc at the centre is

(i) reflex angle (ii) zero angle (iii) complete angle (iv) straight angle (v) acute angle

Angle subtended in the major segment is

(i) obtuse angle (ii) acute angle (iii) reflex angle (iv) zero angle (v) right angle

In the given figure, AB & CD are diameters of the circle. If ZABC = 43.5° find, £LBOC

A C

(i) 108° (ii) 103° (iii) 98° (iv) 93° (v) 123°

In the given figure, 1) & KL are diameters of the circle. If ZILK = 25°, find £OK]
]

(i) 35° (ii) 30° (iii) 40° (iv) 25° (v) 55°



43. In the given figure EG & FG are equal length chords of the circle. Find £LGEF
F

E

(i) 60° (ii) 50° (iii) 55° (iv) 75° (v) 45°

44. In the given figure, CD is a diameter of the circle with centre O. If ZDCE = 40.04° and DE = DF, find LFEC
C

£l

D

(i) 49.96° (ii) 54.96° (iii) 79.96° (iv) 59.96° (v) 64.96°

45. In the given figure, O is the centre of the circle. If LZOEG = 52°, find LF

(i) 147° (i) 172° (iii) 142° (iv) 157° (v) 152°



46. In the given figure, O is the centre of the circle. If ZCDE = 128°, find £LOCE

3

(i) 68° (ii) 38° (iii) 53° (iv) 43° (v) 48°

47. O is the centre of the circle. If ZIJH = 63°, find the angle £OIH

(i) 27° (ii) 37° (iii) 32° (iv) 57° (v) 42°

48. KL is the perpendicular bisector of side 1) of AHIJ. Given £ZHI) = 65° and £ZKH] = 42°, find £ZH]JI
K

[—

L

(i) 36° (ii) 31° (iii) 41° (iv) 46° (v) 61°

49. In the given figure, ALl) is a scalene triangle. Kl bisects ZLIJ. Similarly JK bisects ZIJL. Given Z]JLI = 114°, find £JKI

(i) 152° (ii) 162° (iii) 147° (iv) 157° (v) 177°



In the given figure, AFBC is a scalene triangle. DB & EB trisect ZFBC. Similarly CD & CE trisect £BCF. Given
" LCFB = 78°, find LCDB
F

50

B c
(i) 146° (i) 156° (iii) 151° (iv) 176° (v) 161°
In the given figure, AMI] is a scalene triangle. Kl & LI trisect £ZMl). Similarly JK & JL trisect £ZIJM. Given £JMI = 84°,

" find ZJLI
M

| J
(i) 121° (i) 116° (iii) 131° (iv) 126° (v) 146°

52. In the given figure, ZDFG = 12° and 4ZDHG = 23°, find LFDG
H

(i) 55° (ii) 65° (iii) 60° (iv) 85° (v) 70°



53. In the given figure, £ZFHI = 11° and £F]l = 31°, find £GIF
J

(i) 79° (ii) 109° (iii) 84° (iv) 94° (v) 89°

54. In the given figure, FH is a chord which is equal to the radius of the circle. Find £l and 4G

(i) 45° & 135° (ii) 60° & 120° (iii) 30° & 150° (iv) 50° & 130° (v) 40° & 140°

55. Which of the following statements are true?

a) Angle subtended by the major arc in its alternate segment is obtuse.
b) If two chords are equal, then they are equidistant from the centre of the circle.

)

)
c) The angle subtended in a semicircle is a right angle.
d) Angle subtended by the major arc at the centre is acute.
)

e) Angle subtended in the major segment is obtuse.

(i) {d,a,b} (ii) {a,b,c} (iii) {d,a} (iv) {eb} (v) {d,ec}



56. In the given figure, which of the following are true?

LA+ £BOC = 180°
LA+ /Z0BC+/L0OCB=2~LA

a)
)
) LA+ LOCB = 90°
)
)

b

(@]

d
e

LA+ /£0BC = 120°
LA+ £LOBC = 90°

(i) {b,e,c} (i) {c,e} (iii) {d,a,c} (iv) {a,c} (v) {b,e}

57. In the given figure, the bisectors of LE , LF & LG of AEFG meet the circumcircle atH , | &J. If LE = 52°, find £H
| G

S

(i) 79° (ii) 74° (iii) 64° (iv) 69° (v) 94°

H

A

&

58. In the given figure, O is the centre of the circle. Given £I0J = 56° & £LHK] = 57°, find £HOI

H“

(i) 63° (ii) 73° (iii) 88° (iv) 58° (v) 68°



59. In the given figure, chords CE & DF meet at G. Given x = 118° and y = 36°, find LDCE
C F

(i) 92° (ii) 112° (iii) 82° (iv) 97° (v) 87°

60. In the given figure, O is the centre of the circle. Given LEOF = 36°, LGOH = 78° and £LFOG = 50°, find £LEIH
H

E

(i) 82° (ii) 112° (iii) 97° (iv) 87° (v) 92°
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